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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. TRl gavey 3709 Y9 U9 W A 31 TeaEd: o |

Candidate must write first his / her Roll No. on the question

paper compulsorily.

2. |H U B F T §

All the questions are compulsory.

3. UE® W H SR A T IW-YRAH H & A= |

Write the answer to each question in the given answer-book

only.
4, S UEH I IH QUL €, 37 Gl % IR Teh WY & o |

For questions having more than one part the answers to those

parts are to be written together in continuity.
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5. U 9T % E] 9 IS ®URR B OHE YRR A IS / IR/
I B TR &= 9T & U 1 &l qH |

If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi

version should be treated valid.

6. Tug I HEAT 3h TAE AT
A 1-13 1
q 14-24 2
q 25-27 3
< 28-30 4
Section Q. Nos. Marks per
question
A 1-13 1
B 14-24 2
C 25-27 3
D 28-30 4

7. U A% 24, 27, 28,29 T 30 T AT IHeT ¢ |

Question Nos. 24, 27, 28, 29 and 30 have internal choices.

gug - A
SECTION - A

1. 3o WA gST UE STHeT WO ST H SRR o @ |

Write the difference between chasmogamous and cleistogamous

flowers. 1
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TSI I T THT & i 5T |

Define Ovulation. 1

fo1g 39 Yot & HROT I | I &1 § 2

Which disease is caused by point mutation ? 1

T 3d STkt | SMEe! 3199 & hiE &1 ST A §U |

Write any two uses of pedigree study in human genetics. 1

HY SR = T FA gU T UGRIT HAT & ST Teot ¥ TEEE SaT 9

& el H AT T ?

Which scientist by experimentation demonstrated that “Life comes

only from pre-existing life” ? 1

o GRT BOAT U I Hig Wk I T 910 T & |

Write the name of any one disease in crops caused by fungi. 1

HUSh Y AT T 3T IIT § 2

What do you mean by fermentors ? 1

g SR TII0 % ded i G ok 1 SUANT ARy UM STAR § AT

S ?

For biological control which fungus is used in the treatment of plant

diseases ? 1
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9. I TS BT A9 @ E@U, STEh §RT S TF T el i AT HY Tohdl § |

Write the name of the technique, by which DNA fragments can be

separated. 1

10.  31d 9Iohdl: ®UId I STHE T IS i 57U |

Define Genetically Modified Organism. 1

11. T SRl & gRT 3T GhH0T &1 T8 Hd bl Sl & 2

How can infection caused by pathogens be detected ? 1

12. WETAd del H 9T T8 Uit AT SISl Sl SUART T ST 8T 2

Why should lead free petrol or diesel be used in automobiles ? 1

13. Sl % 39d ™ % A1 G, BHA B JF F AU THAAE ¢ H 2

Irrigation without proper drainage of water is harmful for the growth of

crops. Why ? 1

gue -
SECTION - B
14, T UAMe AR 8 S df U 9¥EET W OFT 99E U 2 HRY 9Ed
HHLATRU |
If corpus luteum becomes inactive, what will be its effect on embryo

development ? Explain with reason. 2
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15. U S S8 30 TR Fal a1eq, 98 g T o § i ST 3R =T ?

A woman does not want any more pregnancy. Which permanent

method will she prefer and why ? % +1 l =2

2

16. FHecll S TT U i WEAT Hl HiT IR &7 I9HaE A @U |

Write any four salient features of the Double helix structure of DNA.

4 x

N |-
Il
N

17. TH A elh &F § o 99 USTadi & bt BT WhY U {05 & & el 31T

oI o1k &1 ook YT &I © | SST80T 9 &d gHeey |

The process of evolution of different species in a geographical area
starts from a point and literally radiates to other geographical areas.

Explain it with example. 2

18. I 9URA & &A1 H T * Iod IURA U @A o1, W & T AT qe
T TR AT UIY UTed i & oW i 9l dehleh 3{0TE Sal & 2 HERY |

In north India which technique is applied for high yield and desirable
qualities such as thick stem and high sugar content in sugarcane ?

Explain. 2
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19.

20.

21.

22.

23.

6

T T IR i ST W R afRrt A R I3 ST At UIey WS e

qSil ? Hoh{UT ¥HSARY |

The nodules on the roots of leguminous plant are destroyed. How will it affect

the plant ? Explain with reason. 1+1=2

HAr T A1 gUT § AfeAd T T ST IS H1 SR HY AhAID FRT HAT

ST & ? IS0 §RT GHLET |

Which technique is used for the correction of diagnosed gene defects in

a child/embryo ? Explain with example. 2

ST, ek SR A UIRY W el TR T4 H Y S ad W € 2 9Heney |

How bacteria, fungi and lower plants survive in unfavourable

conditions ? Explain. 1+1=2

STET U] WX €, ST UM & Tel WIS W % U Yed €1 39 U &6 AT
1 FT FEd § 2 TE HIST |

The egrets always forage close to where the cattle are grazing. What is

1 1
this interaction ? Explain. —+1=-=2

2 2

‘ST Fetiod ST aEdl g8 I AT Aol o HRUT & 17 e Wi HROT

FEd WL ST |

“The accelerated rate of species extinction is due to human activities.”

Explain the statement with reasons. 2
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24.

25.

26.

7

I YT Te Aiq¥ T H H 9 JdqW AGT |
3AIAT

T IF qAT A TR ST H FIE qF AR AWT| “HT I S 3TeA Teh S &

giar 21’ |HeSU |

Write any four differences between external fertilization and internal

fertilization. 4 x E =2

OR

Write any two differences between sexual and asexual reproduction.

“Vegetative reproduction is asexual reproduction.” — Explain. 1 + 1 = 2

qug - q

SECTION - C

YUY Y Fed & ? T H5h! YUY TS i IhIT YUTAT T FU i ST |

What is endosperm ? Describe free nuclear endosperm and cellular
endosperm. 1+1+1=3
TETI A § FT A AT & 2 TG H T T BT TR0 SHT FewHT Al B

HHEARY |

What do you mean by co-dominance ? Explain it with example of blood

groups in human beings. 1+2=3
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27.

28.

8

A TF TN ANT Y Hed & ? TIANS S UF T FHOT i A
LAY |

34T
THINTS € A U oAl & TRUT G FHH B WUl 3E I ey
(S1 U7 T) o YUFRIUT I o ¢ T U i 5T |
What is genetic engineering ? Explain the formation of recombinant
D.N.A technique. 1+2=3

OR
Write the steps in specific sequence of recombinant DNA technology.
Describe the method of isolation of the genetic material (DNA).

1+2=3
e - §
SECTION - D

IfFAIEH HH Fed € ? S U U el Tl UhoTT THIATET | Ferardrg
A = AR |

3

ITANET HY FEd € 2 A0 H AT UHAT HI AHI hd T SR
THTET |
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What is nucleosome ? Explain the packaging of DNA helix. Draw the

labelled diagram of nucleosome. 1+2+1=4

OR

What is transcription ? Explain the process of transcription in bacteria

by labelled diagram. 1+2+1=4

29. 3UHET ¥ Fed & ? Uk olg UIas H {THET sk hl U hi ST | THHT

dﬂ'{@r\lq Y0 Jq1=kU |

(i) IR TR FTE ?
(i) 9HEH H A T F R GA = TAFR GHIAEY |

What is decomposition ? Explain decomposition cycle in a terrestrial

ecosystem. Draw its diagrammatic representation. 1+2+1=4
OR
(i) What is nutrient cycle ?
(i) Explain the carbon cycle on earth with the help of linear
diagram. 1+2+1=4
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30. (i) WRET A FEd T ?
(i) WHT TR TS AMGHT TaeT § 3 AT @U |

(i)  FTSRT T ARETHIOT T THAEY |

(iv) TSR WUS H TASH SI9 & Sl ok i STERATsT T A\ hd o

R

() PO I H PROT AGY |

(i) HER 3T WA P T |

(i) TP A HT NG oF SART |
(i) What is immunity ?

(ii) Write the difference between active immunity and passive

immunity.
(iii) Explain passive immunisation.

(iv) Draw the labelled diagram of the stages of life cycle of

plasmodium in mosquito host. 1+1+1+1=4

OR
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(i) Write the causes of cancer disease.
(ii) Explain cancer detection.

(iii) Give diagrammatic representation of lymph nodes. 1+2+1=4
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